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a—K i 4 Eik | PER (kg) &% (M) i o gefr |- PE M (BAL)
30100 |72V 2 A | ' 35| 1, 350 59, 38 32| B 354
Y3002 |=H (4E41) 7 6,711 1,620 486 486 | B4 Tkg
31100 |3 15| 324 324| 324 324| BN 14—
31200 ||LH#E 5 1,361 65| 65 43 B 25
31900 ¥ - 3| 972 324 324 324| BN 3kg
31900 | 1| 756 76 76 76| BN 104%
34100 |#A/K 20 3,564, 43 3| 28lEM 1004
35220 |X M ERHE 1 842 1,404 1,404 1,404 BM lkg
35303 [AF v FEIAES 16 6, 302 432 432 378| B 16kg
Y3033 | ZAHAL ' 170, 28,134 216 151 140 | B 170kg
33300 |Fmy =y — 1 216 216 216 216 B4 lkg
Y3030 |HETEA (%) 2| 3,456 1,728  1,728| 1,728 BN 2kg
Y3053 |45 4 216/ 54 54 54| BH 4kg
36340 | LR B 6 2, 268| 378 378 378 | BN bkg
46108 | X AT D1 6 8,316 486 432 389 | &P 193y
21032 | KF€F () , 121 12 12 12| &P 10
21160 |BF3E (i) - 5,060 4| 4 4| B 1, 15074
30100 |72V T A 122 5,951 65, 43 2BRE 126K
30300 | A% 90| 5,832 1,080] 432 432\ B 94—
30300 | A% L 50| 9,720 1,944 1,944| 1,9a4|RMr  5r—=x
31100 |E3% 210| 4,160 389 216 26| IEE 14y —32
33810 |# A : 4 1,296 65, 65 65 BEILE 2088
Y5005 |47k %A 5 1,566 1,566 1,566 1,566 k% 1=
31700 | % ¥~ 410 16, 297 648 432 281\ HEIRE 417 —32
31800 135 A% 12| 5,103 108| 81 81 HEIRE 604
31950 A 2L 24 7,884 1,188 918 98| HENLE 8y —2x
31900 ¥ M 4 1,296 162 162 162 |12 83 (500g)
34300 |72 2L 15 4,212 1,404 1,404 1,404|8EK 34—
34400 | h~ k 24 17,712 3,456  2,700] 2,700 #& 64 — A
34400 | k= k C 14 5,789 130 119 119 | fEA 48,55 7
31460 |I=L & B |& 6 2,160 1,080 1,080 1,080 fEWE 24 —x
34100 | #1K 2L 20 7,344 1,836 1,836 1,836 Ei 44— 2
34100 |41/ L 10 6,480 3,240 3,240 | 24— X
34571 [T YA () ‘ 2 2,117 151 | 151 | 1418
34572 ST YA (3) 2 1,825 151 19| 1418
36200 |55 3L 140 14,256 1,080 1,080 864 ki 144 — A
36600 |7z X Lk 80 10,368 2,592  2,592| 2,592 iLiffi 4 —2
Y3027 |L v Fizgh® M 10 2,203 238 216/ 216 4LiEE  10% v b
37200 | L x 5 4% 2L 8 2,160 1,080 1,080 1,080 %[H 247 — A
33420 |V Y=Y —7 L4 2 L 3 L728 1,728 1728 1, 728| I 1 —2
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e - WOk ihy=
L (kg) &H (1) i | o | gem | E (B7)
6 1,814 173 173 130 REA 121#
3| 616/ 76 76 54|V B 9fF
10/ 7,506 86 70 70wy 10075 7
5 3,467 864 864 594 | = il 54— A
8 4,752 2,376 2,376  2,376|BIRE 24 —=
8 2,484 65 65 59 HEVLEy  40%
1 119 12 12 12| IR 103K
5 2,484 2,484 2,484 2,484 |EW 1r—2
3 3,402 113 113 113 /%@ 1304%
3s 70, 12,960 1,944 1,944  1,728/fEAK =2
30 11,772, 6,372  2,700| 2,700 %% B —2
X 6 5,746 292 292 281 BENLES 208w 7
5 3,132 3,132 3,132) 3,132|=a—vU— 14 —2
| SUk
0 24,463 24,463 24,463 24,463 fEA 1l
1,717 292, 154 |



